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(2) (a) Subtract Row 1 from Rows 2 and 3

gives :
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adding row I to row y gives

I 24

8 I[ a Paar] [ii] = [To ly, dg C

So

2 C2 = 42 Y , 2 yo
So

C = Y

(b) So

Cula)
(2+ 3) - 2 f(z)

252

taking E-0 , using L'Hopital's Rule



we differentiate the numerator and denominator

separately and find !
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(2+ 3) G
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and other application of L'Hpital's rule

gives that
this limit

/im 2
: 212, fle4

E+ G
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Alternative : By Talyor's theorem we have

f(2 + 3) = f(z) + af() + - (2) + 0(33)

f(2 - 3) = f(z) - 3f(z) + E -(2) + 0(43)
So

f(2 +2) + f(z - 3)
= 2 f(z) + 22 f"(z) + 0(33)

So

f(2+a) + f(2-2) - 2f(2) = 22 f"(z) + 0(33)














